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= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
201 Lt 50,000 50,000 0
01 At 22l 50,000 50,000 0
O+ sS4&2 TAA BHOS 50,000
A2 SUHERSAE X 250,000 250,000 0
403 MtXISH S X201 & 250,000 250,000 0
01 X SHHAN2E = 250,000 250,000 0
OAnE s8E RSAE &1 250,000
N2ssSHH 2ZAY 370,320 420,000 A 49,680
J| 308,600
< 61,720
403 UHXISHHEX201 & 370,320 420,000 A 49,680
J| 308,600
< 61,720
01 X HHMA=ZLE X 370,320 420,000 A 49,680
OM2RSHA FFAE 370,320
J| 308,600
= 61,720
SMESFESAE X N3 150,000 136,850 13,150
403 XM S =0l & 150,000 136,850 13,150
01 XM A2E X 150,000 136,850 13,150
Olt+="S A4 ZHIXE 150,000
Yo FHetE XA ALY 2,611,400 2,444,600 166,800
308 XtXIEHH SOl A 2,611,400 2,444,600 166,800
01 AXHHBISEES 2,611,400 2,444,600 166,800
Osgel 3gerd X& At 2,611,400
GAPAIE S 2&tAtY 216,000 216,000 0
= 180,000
< 36,000
403 A X EHHS =0l A 216,000 216,000 0
= 180,000
= 36,000
01 X EHHMA=LE L 216,000 216,000 0
OGAP Ald B2tAtY 216,000
= 180,000
< 36,000
GAPCI =S =0t S+ A HAHl RI& 201,500 201,450 50
= 178,500
< 23,000
308 XX EHSOIA 201,500 201,450 50
= 178,500
< 23,000
01 HIXNHHBNEES 201,500 201,450 50
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OGAPRI S =t &t & e ZAHl I & 201,500
= 178,500
< 23,000

AME NI ALY 90,000 67,000 23,000
= 63,000
£ 27,000

307 212t0l & 90,000 67,000 23,000
= 63,000
£ 27,000

02 QItB MNP EE 90,000 67,000 23,000
Oaldg W= 243 N2 90,000
= 63,000
S 27,000

S22 MA Y ESXE 40,000 40,000 0
Il 20,000
S 20,000

307 @iztol & 40,000 40,000 0
Il 20,000
< 20,000

02 I FAAMAEE 40,000 40,000 0
O=cle=E3 H4AF & 82 & 40,000
Jl 20,000
£ 20,000

BASEs A 2 22X 20,000 20,000 0
Jl 10,000
= 10,000

307 212t01 & 20,000 20,000 0
Jl 10,000
= 10,000

02 QB AAMNPE X 20,000 20,000 0
OzXZE3 SAF & 82X 20,000
Il 10,000
S 10,000

g &8s+ 2= € 8242 26,000 26,000 0
Jl 20,000
S 6,000

308 X+l &M S 01 E 26,000 26,000 0
Jl 20,000
S 6,000

01 HXAHHZEES 26,000 26,000 0
ONg ds8+ &= & 22X 26,000
Jl 20,000
= 6,000

SASAOEAH OJHAI0l = 30,000 0 30,000
= 15,000
= 15,000
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SN B(3H) - B 0l &t o il Bl RE2
307 glz2tol & 30,000 0 30,000
= 15,000
< 15,000
02 ItE A AMHEE 30,000 0 30,000
OsaE A0t Hl Ot3tOIOl W= 30,000
= 15,000
< 15,000
AEoel s € & 10,000 0 10,000
307 21201 A 10,000 0 10,000
02 LB AAFEX 10,000 0 10,000
OXNgYNHe W= 10,000
ZEE R0l A X2 22,500 0 22,500
308 XX EHH SOl A 22,500 0 22,500
PADNRE r( == Ra g 22,500 0 22,500
O2ZEE 1O 22,500
ZEE AHIEHE 2 30,000 0 30,000
308 XX EHHSOIA 30,000 0 30,000
01 HIXNHHBNEES 30,000 0 30,000
OZZFEE AHIEAES 98 Mo AT &
S XA 30,000
NAH e 2dole =258 XJ| & 2,372,129 1,913,899 458,230
Xl 950,000
< 1,422,129
=W =KHA =gl 40,000 40,000 0
307 21201 A 40,000 40,000 0
04 DIZHHALALSE E X 40,000 40,000 0
O=3U -2 =H 40,000
AS HASAMEH 206,680 0 206,680
202 O4dl 16,000 0 16,000
03 =220l 16,000 0 16,000
O32& 220l 16,000
301 et a3z 46,680 0 46,680
06 212toI =2l 4l 46,680 0 46,680
Ol 2 Al &I A 46,680
403 XA S A= 144,000 0 144,000
02 SJ12S0iltHst 144,000 0 144,000
OsAlE ol Al 144,000
AS ===SFHl X 280,000 275,000 5,000
308 XXM SO0l A 280,000 275,000 5,000
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 AXHHILEES 280,000 275,000 5,000
OtldsetE =£=F4Hl XN& 280,000
sxbtg =51 |4 340,200 302,400 37,800
403 XSS X201 & 340,200 302,400 37,800
01 XXM A2E = 340,200 302,400 37,800
Os+82 420X S4 340,200
=ESNE IS ANEE s 75,000 60,000 15,000
403 UHXSHHSA=0l& 75,000 60,000 15,000
01 XM A= LE L 75,000 60,000 15,000
O=£st=2 IIS3F ANLU 75,000
sAZ ZEMH K& 73,499 73,499 0
308 XX EHSOIA 73,499 73,499 0
01 HIXNHHBNEES 73,499 73,499 0
OxEs4E I HE XA 73,499
ESAUWL JISAE SHHEH 1,235,000 1,040,000 195,000
Xl 950,000
< 285,000
403 MtXISHE X201 H 1,235,000 1,040,000 195,000
Xl 950,000
< 285,000
01 X SHHN2E = 1,235,000 1,040,000 195,000
Oz M IHSBAS Mg=sd 1,235,000
X 950,000
= 285,000
RIISHE UAEE =2 4SSEANE 41,250 0 41,250
308 MtXIEHMSOIH 41,250 0 41,250
01 HXNHHBHEELS 41,250 0 41,250
ORIIsAS X =843 sHIE 41,250
=EEX A2 AQMEIEXR 14,000 0 14,000
303 L&t 3 14,000 0 14,000
01 243 14,000 0 14,000
O+=EFX 2A2 CHEIEXA 14,000
sAE =& lAdXAS S X 31,500 0 31,500
307 glz2+ol & 31,500 0 31,500
02 HAFHAANHEEX 31,500 0 31,500
OsalE =& AKX Atet SEXZ ALY 31,500
S5 dFUF HESI USS & 35,000 0 35,000
403 XSS X201 & 35,000 0 35,000
02 SO 2SI CHSHH & A B 35,000 0 35,000
— 5 —
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MM AHK MHE DEX S22 HES 84
CHOl: MAHIQF BMElE 225 XTI HE (EERED
SA - BB B () - MM - BES Ol &t o San HmEET
| | OZSSHBME HE2 2ED X2AY 35,000
I NHEFRN2S =X |84 13,809,055 16,083,834 A2,274,779
= 636,000
J| 6,411,200
= 6,761,855
D DEX MAAS SUEXY 1,874,850 1,493,500 381,350
J| 1,293,000
[ 581,850
403 KX SRS K20 ™ 1,874,850 1,493,500 381,350
J| 1,293,000
[ 581,850
01 IXI S X =e = 1,874,850 1,493,500 381,350
Ol DEE AL A 1,874,850
Il 1,293,000
[ 581,850
DAMSMACH I BHE A AL 2,248,515 2,561,775 A 313,260
9] 2,092,000
[ 156,515
403 XX SHH S K20 ® 2,248,515 2,561,775 A 313,260
Dl 2,092,000
[ 156,515
01 IXESHXE2E X 2,248,515 2,561,775 A 313,260
ODATBMACHT J|BFE S ALY 2,248,515
J| 2,092,000
& 156,515
DA ANSRIR K 90,000 90,000 0
308 XX CHl S OI & 90,000 90,000 0
01 X SHBANEX 90,000 90,000 0
OBA ANT SIH X 90,000
D AL MAFH X 500,000 500,000 0
403 RHXI SRS K20 ™ 500,000 500,000 0
01 IXSHHXES = 500,000 500,000 0
O CAF2L MAXH X 500,000
MH=Q S3XT |4 3,000,000 3,000,000 0
403 XX S A S K201 ® 3,000,000 3,000,000 0
01 XS 2E X 3,000,000 3,000,000 0
OMEsQ E3X7 84 3,000,000
NS0 HUXOI(RLAL) 585 AY 597,000 765,262 A 168,262
2 597,000
403 THXI S S K20 ™ 597,000 765,262 168,262
2 597,000
01 IXESHX=2E X 597,000 765,262 A 168,262
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OAZJN oiHXIoIE SS83H(ETAE) 597,000
= 597,000
NS UKo E(SHER) S83 ALY 39,000 53,081 214,081
= 39,000
403 XIS E X201 & 39,000 53,081 214,081
= 39,000
01 XXM 22 = 39,000 53,081 A 14,081
OAE HHXIoE SS3HSHEH) 39,000
= 39,000
ANEJN SEHA 2,419,750 2,561,250 A 141,500
J| 1,855,000
< 564,750
403 UHXSHHSA=0l& 2,419,750 2,561,250 A 141,500
J| 1,855,000
< 564,750
01 HXHMA2LE X 2,419,750 2,561,250 A 141,500
Oge A2EHR 1,819,750
J| 1,255,000
< 564,750
OHIJIE A& 600,000
J| 600,000
HA MAAIE SUSALS 145,000 246,500 A 101,500
J| 100,000
< 45,000
403 X EHHSH20lA 145,000 246,500 A 101,500
J| 100,000
< 45,000
TAXEH A= X 145,000 246,500 A 101,500
OHA dMarAld SO 3 145,000
J| 100,000
< 45,000
ANEESAE=S 4 400,000 400,000 0
403 X SHHSA=0l& 400,000 400,000 0
01 XM A=2E X 400,000 400,000 0
OXNgEsa=s g4 400,000
SEE FUMMALE B 400,000 300,000 100,000
403 MtXISHHE X201 & 400,000 300,000 100,000
01 XS M A=2EE 400,000 300,000 100,000
OEE JAWULAE 25 400,000
olah SJIH 23 90,000 90,000 0
403 XIS E X201 & 90,000 90,000 0
01 X SHHX2E = 90,000 90,000 0
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BE: AUK OE DEE SN2 ¥EH 54
o9l JlYE USRS 58 |4 (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@i HRE2
Oeld =J1H 23 90,000
Ol AL MALAIAE & CH3H 174,000 232,000 A 58,000
J| 120,000
= 54,000
403 XX SRS R 20| & 174,000 232,000 A 58,000
J| 120,000
= 54,000
01 MXSHHEE X 174,000 232,000 A 58,000
OPolal MALAIAE &3 174,000
J| 120,000
& 54,000
oIy Xg sS&H 82 91,500 58,500 33,000
308 NXIEHSOIA 91,500 58,500 33,000
01 AIXSHMENMNEX= 91,500 58,500 33,000
Oola X" S&H 22 91,500
DNEE WX ZEAMY 420,000 420,000 0
403 XX SHHS K20 & 420,000 420,000 0
01 XIS A=Z2E X 420,000 420,000 0
ODNEZE WX LAY 420,000
AXMME H2RESANE I 19,440 38,880 A 19,440
J| 16,200
& 3,240
403 XX SRS K20| & 19,440 38,880 A 19,440
J| 16,200
& 3,240
01 MXHHXNE2BE =X 19,440 38,880 A 19,440
OLHEME HN2RSAE N 19,440
J| 16,200
& 3,240
Wa SEEA BAIEE K& 150,000 150,000 0
308 AXISHHSOIH 150,000 150,000 0
01 AIXSHMENMNEX= 150,000 150,000 0
Oltal SZEA HIAIEHE X & 150,000
ES=04 HES ALY 80,000 80,000 0
308 XHXIEHSOIA 80,000 80,000 0
01 AIXISHHMEMNEX= 80,000 80,000 0
Oss50a HE3 Al 80,000
SAE ICT S=SE &4 AFY 185,000 18,000 167,000
J| 185,000
403 XX SRS K 20| & 185,000 18,000 167,000
J| 185,000
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01 AXSHMA=2EE 185,000 18,000 167,000
OsAlE ICT 858 =4 ALY 185,000
J| 185,000
SRHAA D BER = ALY 885,000 0 885,000
J| 750,000
= 135,000
403 XIS E X201 & 885,000 0 885,000
| 750,000
< 135,000
01 X SHHX2E = 885,000 0 885,000
OHASZ 885,000
| 750,000
< 135,000
= 205 3 II/AEdE =4 192,500 1,009,060 A 816,560
= 72,000
= 120,500
DEZHN BHE 4 (s . E2.248E) 22,500 67,500 A 45,000
= 15,000
< 7,500
308 XXX S0 A 22,500 67,500 245,000
= 15,000
< 7,500
01 AXSGHBLAEES 22,500 67,500 A 45,000
OLEZE & Hat s4(us - 28 248 22,500
= 15,000
< 7,500
RPC HHOHZ Xt3 OIXtEHN 80,000 80,000 0
308 XXt S0 A 80,000 80,000 0
01 IXNHHBNEES 80,000 80,000 0
ORPCH DHEXt= OIAHEA 80,000
U ASHANE S FIotEH K& 33,000 0 33,000
308 XXIEHHSOIA 33,000 0 33,000
01 AXHHILEES 33,000 0 33,000
O=2U As dAss &It NJ3AS 33,000
Rz 57,000 57,000 0
= 57,000
201 Let24d] 8,578 9,578 21,000
= 8,578
01 At 22l 8,578 9,578 21,000
ogxyael 29l 7,000
= 7,000
o2& &2 =&l 1,578
= 1,578
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
202 o4dl 16,000 16,000 0
= 16,000
01 = LH o4 1l 16,000 16,000 0
Og=2e| PRxx 16,000
= 16,000
308 XtXIEHHSOIA 32,422 31,422 1,000
= 32,422
01 X HHILEEXS 32,422 31,422 1,000
oZ=EYIoel XNA(1A2) 32,422
= 32,422
HE2LAZH (AMRSASE) 47,209 44,016 3,193
Jl=&l 47,209 44,016 3,193
Jl223 47,209 44,016 3,193
201 Let24d] 15,079 13,776 1,303
01 At 22l 15,079 13,776 1,303
OJle=+=&Hl 6,154
OJlEs gl 8,925
202 oddl 32,130 30,240 1,890
01 = LH 4 1l 32,130 30,240 1,890
OJlE0 32,130




